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Jaundice is a condition in which accumulation of
occurs in blood.

(A) globulin (B} hemoglobin

(C) bilirubin (D) albumin

difear v U Rafg @ e oA Eal
GER Rl IS

(A) TEgR (B) FrdreEs

() faeirfr (D) g

Which of the following is a non-impact printer?
(A) Daisy wheel (B} Dot matrix

(C) Drum (D) Laser
TH § B F UG A-3aE e B
(A) =0 i (B) =ie digm
(€ == (D) =X

Choose the correct Hindi translation of the
following word from the given options :
Domicile certificate

(A) TE JETOT TH

(B) mam SH U

(C) 7@ T g o=

(D) == FETT O

2.2 cubic dm of brass is to be drawn ifdto a
cylindrical wire of 0.5 e¢m in diameter, then the
length of the wire is -

(A) 56 m (B 112 m

(Cy 224 m (D) 448 m

2.2 79 =& A diaa ® 0.5 T @, Seen] ak
Y @i AR E, @A H WS 5 -

(A) 56 4 (B 112 =@

(C) 224 Wy (D) 4481

Which of the following blood groups is universal
recipient?

frfafaa & 4 ST @ wE gEdiE TR 87
(A) O (B) O

(©) AB- (D) AB*

What is the name of the antimalarial medicine
obtained from Cinchona?
(A) Atroping (B) Cinchonine

(C) Nicotine (D) Quinine
favBMT & YT WRTET & gar @l A adE |
(A) TwEris (B) fawmiftse

(C) fraife (D) 3=

AN

10

11

Which of the following fungus is used in baking
industry?

(A) Black mold (B) Yeast

(C) Mushroom (D) Morels

T TEM F FH HAH B IR BT A § 7
(A) =% AleS (B) I

(C) #9r=n (D) =i

The Heading in a letter consists of
(A) Salutation

{B) The writer's address and the date
{C) The reference

(D) The subscription

In Powerpoint, two kind of sound eftect files that
can be added to the presentation are -

{A) .wav and .mid files

(B) #way and .gif files

(C) .wavgandy.jpg files

(Dp.jpz and .gif files

YTerCaEed g1 o8 & HSs Thad BEd Uaeed | e
1L -

(A) wav g mid w=d

(Blpdwav T .gif wEe

(C) .wav 9 jpg Wiga

(D) .jpg ¥ .gif wrEt

The
(A)
(B)

similarity between Li and Mg is due to —
Similar ionic potential

High electropositive nature

(C) Similarity in the charge of their ions

(D) Insolubility of their hydroxides

Li 3t Mg % 9@ wom=ar & 99 & -

(A) 9N g favg

(B) = faga e gt

(C) T7eh AT & AT ¥ FHHCT

(D) i srREHEE 6 Hgeshed

Objective of ‘Mukhyamantri Laghu Udhyog

Protsahan Yojana’ is :

(A) Establishment of enterprises

(B) Providing new employment opportunities

(C) Both Establishment of enterprises and
Providing new employment opportunities

{D) Reducing economic inequalities

g T Y TN FieES Ao @ 3Eed €

(A) TUHEH A T HEAT

(B) & TS 3E@x ST HLam

(C) IUshHi @ AT (AT U 78 QAo S8y
IYFH HLAT AT

(D) enfiier sreAM™aiet & ®H BN
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Punett square is used in the study of :
(A) Cell Biology (B) Bio-Evolution
(C) Photosynthesis (D) Genetics

T it & 7 e S T E

(A) ®fymee Safasm (B) @ e

(C) WehlIgT-Hgeiyur (D) HEfdER

How many times President Rule was implemented
in Rajasthan?

wsterrE ¥ fepa 9 aguld e @y e

(A) 2 (B} 3
) 4 (D) 5
If sina=%, then cos o is -

Tfg sinu:%,aa COS L W A9 & —

1 1

(A) " (B) 5
V3 V7
© % )

Which one of the following types of medicine afe
used for treating indigestion?

(A) Antibiotic (B) Analgesic

(C) Antacid (D) Antiseptic

e o @ TR W @ gasat Al e W B
T E 7
(A) wiae
(CYy vamd

(B) Wz
(D) e,

If (x—2) is a factor of Xt ke —2x-24, then
the value of & is -

afy x® + kx? —2x— 24 &1 v urEvs (x—2) 3, dl
k& AN O® -
(A) 2
(S

By -2
(D) -5

FUT-FON a=-gH & T8 A B TG HIAT -
(A) e — T (B) 39 - Tl
(C) gz - qm (D) 7 —

AN
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During whose reign did the Kishangarh style
receive an independent form?

(A) Raja Kishan Singh

(B) Raja Jagmal

(C) Raja Roop Singh

(D) Raja Samant Singh

forash aTEA @@ H fRITTe S @1 @dd wmeEd ud
gare

(A) el fwmemide

(B) T STTHTS

(C) = wuls

(D) TN HEHARHE

Which of the following is the first coal based
electricity generating power plant of Rajasthan?

(A) Kota"Super Thermal Power Plant

(B) “€hhabra Thermal Power Plant

(C)r Kalisindh Thermal Power Plant

() Suratgarh Thermal Power Plant

FT0# & BTET TSI I U8 BT HTET L (A
ERICEHICDE I

(A) ®reT gUT quE e w1

(B) BEel aridg Hol w9N

(C) wentay I = wb=

(D) HTTG A Tl g4

In which fort is the Sheela Devi Temple located?
(A) Amer (B) Achalgarh

(C) Mehrangarh (D) Kumbhagarh

fore 24 @ AR few few 7 safeag B0

(A) &Y (B) e

(C) Hew e (D) gwrTe

The Panchayati Raj system in Rajasthan was
inaugurated under which of the following five year
plans?

(A) First (B)y Second

(C) Third (D) Fourth

TSI YA U SFaeel % Ay 6w daadE
ARl & Sfaria fepdn T v ?

(A) waq (B) &

() gim (D) =gd
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Ebony trees are found in forests.
(A) Tropical Evergreen

(B} Monsoon Deciduous

(C) Conical Evergreen

(D) Mediterranean

e ga o ¥ P %)

(A) SWGREEH e

(B) quidTEr HIEA

(C) 9iFuTdl HIEEX

(D) HegEria

Cheoose from the options given below one word
for -

someone who walks in sleep :

(A) Philogynist (B} Somnambulist

(C) Recluse () Termagant

Which allotrope of carbon is in the form of the
geodesic dome?

(A) Graphite (B) Diamond

(C)y Fullerene (D) Carbon Nanotube
HEA B HAE FUEY faresiie fae sEr @ET
TEd &7
(A) Urge
(©) Ferl

(B) &
(D) e TS

In normal conditions the number of WBC in
comparison to RBC in blood is

(A) equal

(B)Y more

(C) less

(D) changes now and then

AT T | 990 BT STl bhEEE T BT
TR A e H

(A) 9UET &1

(B) =amT €W E

(C) & Bl &

(D) S9-d9 Eaal &l £l

If 5™ January 2020 was Sunday, then what will be
the day on 24" January 20227

(A) Sunday (B) Monday

(CYy Tuesday (D) Wednesday

gfe 5 wadl 2020 w1 qar o, ar 24 sedy 2022
B B e w7

(A) TfaEmr (B) ®EX
(C) HTear (D) gea
1vve] A

27

28

29

30

Which of the following statements i1s not true

regarding Rajasthan State Human Rights

Commission?

{A) It is a multi member body consisting of a

chairperson and two other members.

The chairperson should be a retired justice of

Supreme Court.

Other members of State Human Rights

Commission can be a serving or retired judge

or magistrate of High Court or District Court.

The chairperson and other members are

appointed by Governor.

Frafafiad & & &9 91 HUF TSR Tog AFaTtae

T % I H wE AR B P

(A) T U% 9% 9e9™ e & fad area 9 31 o=
e B §

(B) 3ige I=aaq <araTad ®l Han-gd ArEre
el 2

(C), 37 Ge& gvd Mg gl faell =gy &
eyt Agen AfTeE B oruEr @R |

(D) 1ga 9 = gEdl @ Fgfm TEe &
S T

(B)
(©)

(D)

The purpose of run command in start menu is to—
{A) Launch Internet Browser

{(B) Start Programs

{(C) Search File

(D) Open System Lock

WE 9 § ™ B B B E -

(A) 2T AIESL TAm

(B) WM =g &

(C) wrEd gom

(D) T wien @ie

Genes which code for a pair of contrasting traits
are known as -
(A) alleles

(C) Genotype

(B) F, generation
(D) Monohybrid

fauia wern % Tdhds S W @ HEl
ST

(A) T (B) F, 9l

(C) <t ey (D) wHd T

Presently, the number of Municipal Corporation
in Rajasthan are :

goa § Tera™ ¥ T e # e e ®
(A) 6 (B) 7
(©) 9 (D) 10
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Go through the following poem and answer the
question given below :

O Rose thou art sick,

The invisible worm,

That flies in the night

in the howling storm :

Has found out thy bed

Of crimson joy;

And his dark secret love

Does thy life destroy.
According to the poet, the main idea of the poem
is
(A)
(B)
(<€)

The poet praises the secret love of the worm.
Wicked people win the battle.

Innocent are helpless, they suffer and give up
their life.

(D) The beauty of the Rose is immortal.

Rinku sells a table of costing price T 840 to Sonu
and earns a profit of 10% and Sonu sells it to
Rockey at loss of 5%, then what would be the
final selling price of the table?

figg T 840 %A ey il &l 10% & @9 & Al
B AT ¢ ST A 3H TR Bl 5% A T 9T ST
T 2T W AT TR e e e g

(A) T 877.80 (B) ¥ 798

(C) T 837.80 (D) T 924

Through which of the following districts 6f
Rajasthan, the tropic of cancer passes?

(A) lJalore (B) Sirohi

(C) Banswara (D) Jhalawar

Friferd § & ToRa™ & -4 Mg 6 @

T & 7
(A) SR (B) THOER
(C) wigaTst (D) HATETS

Find the odd one out :

(A) ORACLE

(By MYSQL

(C) MS ACCESS

(D) C++

CECRCIR I

(A) a@a (ORACLE)

(B) 6 = ug @ ud (MYSQL)
(C) wauw TaEd (MS ACCESS)
(D) d++ (C++)

AN
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Study the following Pie-chart and answer the
question -

= o aerE & eremm &Y e YT @ SR -

= Paper (&P
Advertisement (=)
Binding (amzf=m)

x=
Il

= Printing (7zT)

(Expenditure chart)
(@d =)

How.much percent more is spent on advertisement
thaf that on binding?

qEiET @ stvEr fasuT ot fea widsa e a@d
forarT &%

(A) 2.5 (B) 9
(@) 2.8 (D) 10

GBI 9w AT 2 9y § "9 & -
(A) Fryggama® (B) weersraTE®
(@) ferars (D) wsTarasm

When the liquid is spun rapidly, the denser particles
remain to the bottom and the lighter particles stay
at the top. This principle is used in -

{A) Centrifugation (B) Fractional distillation
(C) Evaporation (D) Filtration

=9 fopdl g3 @ A & R AR 3, @ 'E Ew9 AN
U1 T6 H HUL Ed ¢ | TF TS w1 SwEn fem
EICUE

(A) SHH=T H
(C) AR |

(B) aifyes ameas ®
(D) T o

Who is the current chairperson of the National
Commission for Women? (As on 18" December
2022)

(A) Mamta Sharma

{B) Lalitha Kumaramangalam

(C) Dr. Girija Vyas

(D) Mrs. Rekha Sharma

UL HiET SR i A sreaE @i § 2 (18 gy

2022 & FTET)

(A) HHaT g

(B) @ferar FATHTEH
(C) =1 fifer =
(D) St Tan g
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When was ‘Tiger Project’ started in India?
(A) 1 March, 1973 (B} 1 April, 1973
(C) 1 April, 1972 (D) 1 March, 1972
URd § 9" aid[r e e w1 A 7
(A) 1 T, 1973 (B) 1 e, 1973
(C) 1 a9, 1972 (D) 1 =, 1972

For a light ray travelling from denser to a rarer
medium, if angle of incidence is equal to the critical
angle, then the angle of refraction is :

o ¥ faea Trew ¥ T B 9 Wl s Uh
fepTor o T ST SATHA I, Hifeieh HIVT b ST BIAT
¥, T9 U BT B ¥

(A) 0° (B) 45°

() 90° (D) 180°

Trench Commission was formed in the context of
which peasant movement?

(A) Begu Movement

(B) Bijolia Movement

(C)y Alwar Movement

(D) Bundi Movement

fore Tpe IS & TeY o 39 SIE ® e e
Tl ATt

(A) = =R

(B) faferar sm<ias

(C) Ieat =

(D) & ar=rE=

If log, (x+1)=2, then the value of x'is :

g log, (x+1)=2, T x & 99 &=
(A) 0 (B} 2
) 3 (D) 4

In a pond eco system, food chain stapts with -
(A) Phytoplankton  (B) Zooplankton

(C) Aquatic insects (D) Small fishes

AT wiRufael o 8§, @ g wey g g -
(A) wETwE® o (B) Sigwa® ®

(C) =g Ble & (D) B Awel ¥

Where is Maharaja Shree Ummaid Mills located
in Rajasthan ?

(A) Jodhpur (B) Pali

(C) Jaipur (D) Jaisalmer
W o I fied Towa F waf @ ¥ 7
(A) sHugy (B) et

(C) vy (D) et
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Name the Pratihar ruler who not only checked the
advance of Arabs but also liberated several rulers
from their yoke.

{A) Nagabhatt 1 (BY Deoraj

{C) Vatsaraj (D) Nagabhatt 11

3y ufdere qEe 1 T Sdzy e T bad el b
T FE T 3P T qleeh HTeh STEhI Bl ITh
antaue & A g feea
(A) TTTwE qEw

(C) @

(B) Faaw
(D) -z T

Choose the correct direct speech of the following
sentence from the options given below :

He ordered them to lock the door,

(A) He said to them, “Please lock the door.™
(B) He told them, “You locked the door.™

(C) He tells them, “Lock the door.™
(D)AHesaid to them, “Lock the door.”

What is the famous “Baadla” of Jodhpur?
{A) Wood Temple

{(B) Water container made of zinc

(C) Zari Saree

{D), Lomcha

staye &1 ufbg e foea F | @ 27
(A) ST @ AT

(B) & § ST UM @1 9IS

(C) st @8t

(D) uiHEr

Frfafeg & @ ®Fa 9= THuge © 7
(A) Heae (B) afwerwur
(C) Hebed (D) fHarm

e o o =@ faam o= @ yam gem 27
(A) =1 — = (B) &asl — e
(©) e A (D) &g — ®BR

Triplet code for inhibiting process of translation
is:

AR ihal B I B arell frucie BrE ¥

(A) AUG (B) UAA

(C) UAC (D) UGG

Change the following sentence from the active
voice to the passive voice.

We expect good news.

{A) Good news is expected.

{B) Good news should be expected.

{C) Good news must be expected.

{D) Good news was expected.
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On 30t October, 2022 a pedestrian suspension
bridge collapsed in the city of Morbi in Gujarat,
it was built on which river?

(A) Rupen (B)Y Machchhu

(C) Sabarmati (D) Khari

30 arFET, 2022 & TS0 & Adl 98 H U ded
TERYH O $8 T, A€ AW T8 9T SEE T av?
(A) = (B) =g

(C) et (D) @l

The diameter of a sphere is 0.7 cm. From a water
tank, 3000 spheres completely filled with water is
thrown out. The volume of the water thrown out

_ ( 22)
is | where n:T

(A) 539 cm? (B} 530 cm?
(C) 439 em? (D) 430 cm?
U T B 0.7 G ¥ | U 9 @l el § 3000
T Yo7 &9 H AL I 916 ¢ (Il ST &, a1 9181

ﬁﬁﬁmﬁﬁww%(aﬁﬁ:%)
(A) 539 a7 ¥ (B) 530 = &
(C) 439 =7 FFr (D) 430 7 &

How many characters are supported by ASCII-7
coding system?

3MEpl-7 (ASCII-7) ®fén fywed & Rpad siged
B £ 7
(A) 356
(€C) 512

(B) 128
(D) 256

The median and mean of 15, 17, 16, 7, 10, 12, 14,
16, 19, 12 and 16 are respectively -

15, 17, 16, 7, 10, 12, 14, 16, 19, 12'Ga1 16 &
Hiftgel ud wied HE: & -

(A) 16, 18 (B) 1o, 14

(Cy 15, 14 (D) 15,16

frefafag o 9 fom faee o g g= Afaas
e g7

(A) FHlr, T2, 9, B

(B) e, g, At 9, wdw

(C) w=E, u9an, &4, TaE

(D) i, e, e, "R

The Jaswant Thada of Jodhpur was built by .
(A) Maharaja Sardar Singh

(B) Maharaja Hanuwant Singh

(C) Maharaja Ummed Singh

(D) Mabharaja Jaswant Singh Il

AGGE 5 st ST a1 P

(A) TETOSN |YERiEe

(B) HETUSN TAATEE

(C) #Herusn Iwefis

(D) weTUen SHaEE fEaE

AN
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Second highest peak of Aravali is —
(A) Gurushikhar (B) Sergarh
(C) Achalgarh (D) Taragarh
ST A g T S A
(A) it (B) #Tme
(C) e (D) arrTe

Which of the following climate regions in
Rajasthan receives lowest annual rainfall?

I fefafad Jaayg wel § ¥ b g9 F9
aiftfen awl 9T L & ¢
{A) BShw

(C) BWhw

(BY Cwg
(D) Aw

_______ National Games were organised in
Ahmedabad.

(A)43%th (B) 35t
(C) 3eth (D) 37t
SreuEEE o T Gwl 1 AT TS5 T
(A) 344 (B) 354
(Q) 368 (D) 374

ey 9T F wHE F -
(A) @ (B) ey
() &= (D) s

The highest peak in the Eastern Ghat is
(A) Anamudi (BY Dodabeta
(C) Mahendragiri (D) Gurushikhar
Tdt g1z ¥ gared fray ¥ -

(A) =TS (B) s@me

(C) we==fiy (D) efirEx

The centre of activities of Govind Giri in 1911
and 1912 was .
(B} Sunth

(A) Idar

{C) Bedasa (D) Kheda

TMiere fify & niafaftral @ &= 1911 wd 1912 A
qrl

(A) &= (B) g

(C) <ean (D) €=

Volodymyr Zelenskyy is President of -

(A) Russia (B) Portugal
(C) Spain (D) Ukraine
AT Siwh T § -

(A) &4 & (B) gdwer %
(C) &9 & (D) I &
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Shree Kalraj Mishra is governor of
Rajasthan.

(A) 3oth (B) 40th

(C) 41% (D) 44th

A1 s g, e & g TgaE ¥
(A) 39 (B) 40

(Cy 41 (D) 44

Value of +16129 is -

V16129 @1 wm ¥ -

(A) 117 (B) 133

(C) 123 (D) 127

State Human Rights Commission submits its annual
report to .

(A) National Human Rights Commission

(BY High Court

(C) State Government

(D) Advocate General of State

T AHE AR AR S0 A gfaaes w&d
HIT &

(A) T AFE AfeRT ST B

(B) IT9 T @l

(C) Ty H{&I &l

(D) T=g & WEEawT &l

Which of the following converts source program
into object program?

(A) ALU (B} Control Unit

(C) Assembler (D) Anti Virus

T W B A HE YR # aeae GRpE A aeedl

3
(A) ALU (B) @2 gie
(C) arawer (D) T IET!

Which of the following exhibits_non-metallic
properties?

frrafafea & & @ a1 sienfas qu gl s &7
(A) Al (B) Be

(C) grey Sn (D) Mo

The sum of first 50 natural numbers is —
g 50 WigHd HEArs @A -
(A) 1000 (B)y 1200
(C) 1275 (D) 1523

If *CLOCK’ is coded as “34235” and ‘TIME® as
*8679°, then what will be the code for ‘MOLEK™?
Ty ‘CLOCK’ @ “34235” 3R “TIME’ &l ‘8679° &
Fted frn s/, @ “MOLEK’ % faq @rs @ grm ?
(A) 72945 (B) 72495
(C) 62945 (D) 62495
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Rays moving paralle]l to the principal axis of a
convex lens after refraction passes through :

(A) Principal focus

(B) Undeviated

(C) Optical centre

(D) Centre of curvature

T @ & FAFFAR Tor] amel (o 3ad og o
U % YE e §

(A) J&T1 ®HE |

(B) st

(C) WellyE &g §

(D) dshl bs &

When the post of Lokayukta was established in
Rajasthan?

TERYE, A AhgET B T8 e Grord §HT o7 7
(A 1992 (B) 1977
(©), 1982 (D) 1973

Fillvin the blank with one of the correct options
from the options given below.

It's, time they working on the project.
(A) started (B) start

(C) will (D) would start

Choose the words which are nearly opposite in
meaning to the underlined words :

Opaque
(A) Cloudy (B) Hazy
(C) Blurred (D) Transparent

‘FynfeTeT e § iar i &7
(A) To1 Hfy (B) gig @iy
(C) ¥ =y (D) fat @iy

Which of the following blood groups is a
‘Universal Donor’?

Frefarag & & B & O 0% gaemr 8 7
(A) A (B B

(C) AB (D) O

AT A & ATER = N o 9 geEtam
it & —

(A) I T AT 91t

(B) 4idl gai guir i @

(C) o d@) d &6 91X a@l

(D) dd dig e oI wid |
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Which one 1s not view option in PowerPoint?
(A) Outline view

(By Normal view

(C) Slide sorter view

(D) Slide show view

TTH ¥ DA diaTdiEe B F famed T2 T 7

(A) STSZellg =

(B) e =

(C) wmEe &Y =

(D) &= 9 o

A bag contains ¥ 5, ¥ 2, and ¥ | coins in the ratio
5:6:7. If the total amount is T 220, then number of
T 2 coins in the bag is -

Ush O W 5:6:7 % I UId § T 5,32, 0d T 1 & faan
Wt ak g U T 2208, A FI 2%
fempl & TE t -
(A) 30

(€) 60

(B} 35
(D) 120

*Penganga’ is a tributary of which of the following
rivers?

(A) Krishna (B) Kaveri

(C) Godavari (D) Mahanadi

T Frefaiag AR ¥ § el geme w9 § 2
(A) o (B) ®rad

(C) TREd (D) werar

A wire is in the form of a circle of radius 98,¢m.
A square is formed out of the wire. What is the
approximate length of a side of the square?

(A) 148 cm (B) 152 cm

(C) 154 cm (D) 156 cm

U dTC 98 THT Boen & g % NI Bl SEH ol &
T o AT WA F | AT Db T A DI way
w7

(A) 148 &
(C) 154 &=

(B} 152 &4
(D) 156 &t

Which program helps the user to view different
web sites on the internet?

(A) System program

(B} Server program

(C) Browser program

(D) Search engine

HE-T WA I B $24E T G T &1 a9
A5 Y@ ¥ TEE Il £ 7

(A) ThwH g

(B) @ WM

(C) =TT T

(D) & 59
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In the CD-R type of CD, data can be

(A) Only read once

{B) Written once, read many times

(C) Written many times, read once

(D) Only written once

CD-R w&T &1 CD 9T 221 &l

(A) Tak us 9 TGl 5T Hehel &

(B) #2 I e, w¥ i uh 9w fomr - e €
(C) Tk T X UEl, 9 g 91C foen S "eRdr @
(D) Tk ue ST fovem 51 wehar 2

Virtual and enlarged image of an object can be
obtained by :

(A) Convex mirror

{B) Concave mirror

(C) Plane mirror

(D) Concave lens

fee og weSTE T faatde wfatds e e
THINE

{A), 3l &Y gra

(B) o@ad U &0

(C) F9d@ sdwr ZTa

(D) 3raaw wE g

What is the optimum temperature and catalyst
required for Haber's process?
(A) 450°C, Iron (B) 45°C, Tin

(C) 150°C, Copper (D) 300°C, Silver
TET ufee & Suged A R SEe feaer wEd
BT § 7

(A) 450°C, I
(©)

(B) 45°C, f=1

150°C ., &It (D) 300°C, fawmr

Who is the first woman Director General of
National Council of Applied Economic Research
of India?

(A) Poonam Gupta

{B) Renu Sud Karnad

(C) Shyamala Gopinath

(D) Shobhana Bhartia

HILT & A9 Hrofid A% TS RIS ({9 @
TER AfEAT HeTasTs B & 7

(A) g T

(B) ¥ g3 ®ls

(C) samar mdi
(D) 9T faan
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J[E a9 H I dI -
(A) e (B) ardeae
(C) e (D) aideram

If the length of a shadow cast by a pole is 3
times the length of the pole, then the angle of
elevation of the sun is -

qfE ud @Y g S TE TOE B TE6E @Y B |

A3 TME AW w e & e
(A) 30° (B) 45°
(C) 60° (D) 90°

Hemang Jaiswal of Rajasthan is player of

(A) Kabaddi (B) lJudo

(C) Boxing (D) Weight Lifting
TR & 9 SaEard % fiaemsr ¥
(A) wadl (B) =i

(C) Heharail (D) SRl

The slope of the ling joining 4 (3, 7) and B (-2, 1)
is -

fg A(3,7) @ B (-2, 1) % P awt Y@ @

T &
5 6
(A) 5 (B} 3
] 6
(©) 3 (D) =

Which one of the following agency undertagk the

excavation work of Kalibangan?

(A) The Rajasthan Department of Archacology
and Museums, Jaipur

(BY The Archaeological Survey of Indiad New
Delhi

(©)

(D)

Deccan College, Pune
Melbourne University of Australia

frrfeitaa o @ foow we afirereol & widiEm & I

Y B TAEIRIE HHTeT 7

(A) TSEEH QRIaE UE GuEyg fawm, syl

(B) A g qa&u, 9 fae

(C) T whr, T

(D) weam fayataeme™, et

Which of following districts of Rajasthan is not
included in the first phase of Rajasthan Urban
Infrastructure Development Project?

(A) Kota (B} Udaipur

(C)y Alwar (D) Bikaner

oA % = H 8 e fae el s i
YT g AT & gom =9 § |fetd T8t
fepar & 7
(A) @
(C) s

AN

(B) S=a[
(D) dram
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Punit goes West, he turns left, then left, again left
and then right and finaly goes right. In which
direction he is moving?

(A) North (B} South

{C) East (D) West

YA UiEH @i S 9l §, 9 9l K gedn 8, et
TET ST U A YA SR A qU7 3 o ud
sid # arll sl oddr &) 9% few fasm & o e #7?

(A) ST (B) aféor

(C) ud (D) wi¥em

Ornaments of “Tarkashi® are famous of which
place?

(A) Nathdwara (B) Chittorgarh

(C) Barmer (D) Udaipur

Arepsiigsd amqu (SeR) fhe wm % ufas 7
(A) Tgsmm (B) fdreme

(C) et (D) w=agx

The Malpura-Karauli Plain is the part of -
{A)_ Luni Basin (B)Y Chambal Basin
(C) "Mabhi Basin (D) Banas Basin
HAGO-Hae T2 a9 § —

(A) T ST @ (B) @@ It ®
(C) =T 9t ® (D) =9 i @

Fill in the correct article.

He is not honourable man.
(A) an (B) the
(C) a (D) no article

An eye defect *Astigmatism’ occurs when :
(A) the image of an object is focussed at a point
behind retina.

the image of an object is focussed at a point

before retina.

(C) the eye lens becomes cloudy.

(D) the cornea is not spherical in shape.

giteciy ‘ghedwy’ da 3 @ldt & 9 ¢

(A) el ag o wfafa giteues & 0 feel fag
wlbid Bl §1

(B) fordiy g a1 Wit gfevem & omi fr g
T EIHEA BT E

(C) = «fa duar & = 3

(D) wiftar & sl Al €1 g

(B)
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Which activity is not related with the Draught
Prone Areas Programme in Rajasthan?

(A) Soil and moisture conservation

(BY Water resources development

(C) Afforestation

(D) Poverty removal

A § T U9 &3 P H gy fpg rarary
q T EY

(A) BrEr g =9 @1 HeEw s

(B) wTa-ganest & fasmme

(C) &

(D) =T FrEm

At the 68 National Film Awards on September
30, 2022 who was conferred with the Dada Saheb
Phalke Award?

(A) Waheeda Rehman

(BY Asha Parekh

(C) Lata Mangeshkar

(D) Asha Bhosle

30 Taa=e, 2022 ®1 68 & T e sl § 3=l
B B IR § fhd FoTa f6ar T ¢

(A) adiar (euH

(B) aTsT U™

(C) a1 Wit

(D) amsm wiew

Agni dance is performed by the men folk of which
sect of Rajasthan?

(A) Dadupanth (B} Jasnathi Siddha/Sect
(C) Ramsnehi Sect (D) Bishnoi Sect

T o ThT TS & Wik 1 FIRT 31, JoT foha
EICIR

(A) argin

(C) THER §UE™

(B) STEwell T wwa
(D) ToeE dvem

Prabha Atre (Padma Vibhushan Awardee 2022) is
related to which field?

(A) Sports

(B)Y Space Technology

(C) Social Work

(D) Indian Classical Music

gor e (s ferguer yreesrt faorar 2022) g & |
Hefam 27

(A) &

(B) siafter wrenfire

(C) |9 ®ar

(D) W@ e Wi
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The famous Pushkar Fair is held in which month
of the Hindu Calendar?

(A) Sawan (B) Falgun

(C) Kartik (D) Chaitra

TN & AaE TR "l feg 99 % f6E AE o
GG
(A) graq
(C) =i

(B) wT
(D) ==

‘Temia’ sTe W T WE SfUSr st R shW Y
(A) Discrepancy (B) Discretion
(C) Dismiss (D) Disorder

The wood of which tree is used to make cricket
bats?

(A) Acacia (B) Willow

(C) Teak (D) Mango

e gena! w@s! 1 IUANT fohdhe &7 See I % g
forgr man & ?
(A), g
(C) b

(B) faeit
(D) 3m

Which danguage (dialect) is spoken in Bundi and
Kota area?

{A)“Bagri (BY Mewati

{C) Hadauti (D) Brij

98 ©F e 8§ A A e e €2

(A) M= (B) e

(C) ®rErr (D) &=

What is rank of I[ndia in 'Climate Change
Performance Index (CCPI) 20237

(A) Gih (B) 7th

(C) gth (D) gth

Tearg aiEed yes gawia (CCP1) 2023 # «rd
@ Y6 W ey
(A) Ba

(C) amear

(B) @aat
(D) =it

L + M means L is the brother of M.

L —M means L is the son of M.

L +M means L is the wife of M.

L x M means L is the father of M,

then which of the following means R is the mother
of T?

L+Ma@r @t L, M @& o8 &

L-Ma@ & L, M & g &

L+Ma@ aid L, M &1 et §1
LxMa &t L, M & firr %,

ar fetefia & & fepaeer o & 6 R, T & mrar & 7
(A) R=AxS+T (B) R+A+SxT

(C) R=A-S+T (D) R+A+8-T
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India?

g a9 o "Wg 7 Tma™ - | mieT @
(A) 2007 (B) 2008
(C) 2009 (D) 2010

Cheose an appropriate translation for the sentence
given :

She saved money for a rainy day.

(A) S FIeT % Tog 99 s

(B) S&1 WM @ T8 sEm)

(C) S&q &l & o & gamn)

(D) S84 g{ 994 @& (0 98 T

The next term of the given series is -
EUR R IICI RV UG

C,E,H, L,Q,?
(A) U

€y W

(B) V
(D) X

The high grade coal is -
(A) Anthracite (B) Bituminous

(C) Lignite (D) Peat
A it @1 Higem ¥ -

(A) TryTETEE (B) feagfirra
(C) fammge (D) e

Which fort is situated on the confluence &f
Gambhiri and Berach rivers?

(A) Kumbhalgarh Fort

(B) Tadgarh Fort

(C) Chittorgarh Fort

(D) Ranthambhore Fort

THH Fu1 S AfEAl & N G B e fga B 7
(A) F¥Te fohe

(B) =157 fepem

(C) Tadimg fepe

(D) TurersiT femmn

frefetiaa o & fpe Qe & s TR BT W@ Ree
T 7

(A) ®BUT g @ ¥

(B) = T 97 T@T )

(C) |0 42 a9 @) 2|

(D) & TaHT & T

VAN 12
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115 Name the river flowing through Bikaner district —

(A) Kantli (B) Mantha

(C) Ghagghar (D) None of the river
St faell 8 werfad &1 drell 98 @1 W § -
(A) ®idel (B) w=n

(C) wum=y (D) @big 48 =&l

Complete the following figure series :

frrafafad sl gaan wf i Hifs

K\ S| 2

(A) (B)

AN /IN

/N AN

(€) (D)

Complete the sentence by choosing the correct
preposition from the choices given below :

What's the time
{A) in
{(C) on

your watch?
(B) at
(D) by

Which lake does not exist in Nagaur district?
(A) Didwana (B) Degana

{C) Kuchaman (D) Raiwasa

Al Rl A Biae) iia Red @i 37

(A) Seami (B) am=r

(C) g (D) e

Ifin A ABC and A DEF, A8 _BC _C4 _3
DE EF FD 5

then their areas are in the ratio -

A ABC o A DEF #afy A8 _BC_CA_ 3
DE EF FD 5

dr I FAEA! BT I BT —

(A) 9:25 (By 16:25

(C) 5:3 (D) 3:5
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In the system of equations
x+my+n =0
Ihx+m,y+n,=0

ll _ moon

if —=—%—_ then lines represented by
ty my

equations are —

(A) Parallel (B} Coincident

(CY Perpendicular (D) Intersecting

AT e

x+my+n =0

Ihx+m,y+n,=0

Wb Lo M G e g et g
L my

F_

(A) @HI=It (B) urd

(C) v (D) witress)

In which one of the following civilizations bricks

were not used in making houses and colonies?

(A) Nuh (B) Kalibangan

(C) Pilibanga (D) Ganeshwar

frfafiaa o 9 e gwa@ o sram wd SR 9

W e a1 ganr =2 slar a1 ?

(A) T& (B) AET

(C) drEm (D) Ay

A geostationary satellite revolves approximately

at what height and in which plane?

(A) 36,000 m, equatorial plane

(B)Y 36.000 km, equatorial plane

(CY 36,000 km, polar plane

(D) 36,000 m, polar plane

% TR IWE AT e S 7§, fewaa o

O AT E 7

(A) 36,000 W, s y@E ad

(B) 36,000 fe, rea@E a@

(C) 36,000 fwer, gamm @

(D) 36,000 A, gdra aa

*The Adaptation Gap Report 2022" is published

by -

(A) World Bank

(B) United Nations Environment Program
(C) World Economic Forum

(D) BRICS

g TR T W 2022 HT WRIHEHAT & -
(A) Taga 3=

(B) Hgad U TG0 HHA

(C) faya enfis w=

(D) =

VAN 13
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124 Total number of Gram Panchayats in Rajasthan is:

T o I vagat # A e §
(A) 10,890 (B) 12,560
(C) 11,283 (D) 13,443

Kwashiorkor is usually observed among children
in the age range of -

(A) <1 year (BY 1—4 years

(C) 4—6 vears (D) 6—10 years
FATRERS AT U g § 369 g 4 o I
™R -

(A) <1=9
(C) 4—6 a9

(BY 14 a9
(D) 6—10 a9

A member of the State Public Service Commission
may be removed by the :

(A Governor, after the inquiry conducted by
High Court.

(B) President, after the inquiry conducted by the
Sopreme Court.

(CGovernor on the basis of impeachment in the
Legislative Assembly.

(D) President on the basis of impeachment in
Parliament.

T @ TaT AT & Ta & IS § gl @
LET

(A) TOUTd & T =9 AEGd & A1d & 9%
(B) Trgufd % 10 aiey AW & Sid & 96
(C) Taa gwr & w=if¥arT W & ded TeguTe &1
(D) H9g % WElam W % agd gl & &

g # ol @Rt o aafyeerdl @l 91 T U9 @1 Sae
S U A WRU-uS WAl Al §, 3§ hed & —

(A) T (B) fa=fia
(C) THfaer (D) ATER®

When an error of 1% is made in the length of a
square, then approximate percentage error in the
area of that square will be -

Uth 1 bl ot o 1% bl Terd! &, dl 39 < & asred
T T B TR ulderadar wr gni e

(A) %% (BY 1%

(C) 2% (D) 4%
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Which one of the following times is the season of | 134
retreating monsoon?
(A) October to mid December
(BY December to February
(Cy Mid June to September
(D) February to mid June
frrsifend ® | e g v venrada & wxg @ 2 ?
(A) 3RET § 9y faaeEt
(B) femma @ wead
(C) weg 5 4 fawert
(D) w@Ed ¥ A 94
In which Legislative Assembly Sumitra Singh was
choosen as the first Woman Speaker in the State
of Rajasthan?
(A) Tenth (B} Eleventh 135
(C) Twelfth (D) Thirteenth N
gt fife, TeRa™ 59 ® gsel At U e
Fegy w1 fauE g A a7
(A) T&dr (B) varedr
(C) areed (D) dvedi
Air Marshall Shaikh Abdul Hannan was chief guest | 136
at Graduation Parade of Flight Cadets. He is from-
(A) Afghanistan (B} Bangladesh
(C) Malaysia (D) Iran
way Hisld $hg Sisge &1 W3 hedd bl UuRI
e H P Ay 819 § —
(A) STHETHEN & (B) ST@Eet ¥
(C) #ofymr | (D) 3+ @
A sum of money doubles itself with simple interest
rate in 12 years. In how many yearsgwould it treble
itself? 137
(A) 18 years (B) 24 years
(C) 30 years (D) 36 years
iz U g 12 a9 ¥ | g 37 F A
& ol 3, 1 ge ufdt fead ant § farl € ?
(A) 18 a9 (B} 24 =¢
(C) 30 a9 (D) 36 a9
Twang sector is situated in -
(A) Arunachal Pradesh
(B) Assam
(C) Sikkim
(D) Uttrakhand
agi & Rud & - 138
(A) oTEuTad WSy o
(B) @9 o
(C) fafem o
(D) STEvs H
/\ 14

Who among the following was nominated as a
representative of Rajasthan in the Constituent
Assembly of India in 19467

(A) Vijay Singh Pathik

(B) lJivraj Narayan Mehta

{C) Heeralal Shastri

(D) Mohanlal Sukhadia

frfdfad & § & 1946 ¥ WG & dique s
w1 A e o yiaity & w9 F whmig ey g o e
(A) Taerafs uide

(B) wiaq AT HEdm

(C) EroeTa STt

(D) e gansan

In which year Desert Development Program was
launched?

HERIRT | fenre wreed fohe au & =T femen T o ?
(&) 1977-78 (B) 1980-81

(C) 2001-02 (D) 1984-85

Whereas a multi-product SEZ been established
b RIICO in collaboration with Mahindra Group
in Rajasthan?

{A) Neemrana (B) Kota

(C) Jhalawar (D) Jaipur

TRl = ATe=1 T % e § TeRY | Bl Gges
EERS U ECRE I
(A) e

(C) w@mErs

(B) I
(D) {9

Who was appointed as the Rajpramukh of Greater
Rajasthan?

(A) Maharaja Sawai Man Singh

(B) Maharaja Bhupal Singh

(C) Maharawal Chandra Singh

(D) Maharawal Laxman Singh

69 ST 1 Tawd fendl Frgert fomam mam ?
(A) HEWTSN ®aTE AMHE

(B) TS quTEiiE

(C) werra TwsidE

(D) TENEW AeAuids

Choose the correct Hindi translation of the word
given below :
Registration
(A) dfste
(C) wfemn

(B) dsireReor
(D) =
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11 day exposition of Holy Kapilvastu Relics of
Lord Buddha was organised by Government of
India in -

(A) Malaysia (BY Thailand

(CYy Mongolia (D) Sri Lanka

AEE gE & Uaw Hidarg dAdesl & 11 ey
g w1 AR R @Y BT fRe T et -
(A) =eifdrar & (B) amzeivs §

(C) wierar & (D) dieien &

Who among the following Folk-Gods is also related
to snakes?

(A) Ramdevji (B} Pabuji

(C)y Mallinathji (D) Gogaji

frrafafad & & @ depaaa qiar & W gt 27
(A) et (B) g

(C) Hewirrersi (D) T

According to the India State of Forest Report 2019,
the state (Not Union Territory) having lowest
percentage of forest cover is -

(A) Punjab (B) Rajasthan

(C) Haryana (D) Uttar Pradesh

zfvsar w2 e wite e 2019 & sgan 98 Uy
(@ o TReT EY) Sl a7 & Bl WA 99 gAaw
%, T E -
(A) 49"
(C) sfmm

(B) T
(D) ST gdst

Which of the following formula in Excel is cgrrect
to find sum of cell Al, A2, A3 and A4?
frrfaitaa & & ®iEr TRE GaeE Al A2, A
Ad T &1 AT @i & e gé & 7

(A) = sum (Al to Ad)

(B) =sum (Al; Ad)

(C) =sum (Al : Ad)

(D) =sum (Al — Ad)

Which of the following is not gerrectlyinatched?
(A) Protection of Discriminatiomy: Article 15
(BY Right to Association : Article 19

(C) Right to Protection of Life ; Article 20

(D) Right to Constitutional Remedies : Article 32
Prafeifiad i & -1 481 gt 8 3 7

(A) WewE ¥ gua : ag=e 15

(B) @9 & Trmfw @1 siftrere @ wgese 19

(C) ad @l & & AfHR - A= 20

(D) EIAYTe ST B AR : TTa 32

Which of the following string instrument is also
known as “Bheri”?

(A) Bankiya (B} Bhungal

(C) Mashak (D) Pungi
frrfofaa & & few ama a= & 90 FE S E 7
(A) it (B) o

(€) w (D) i

VAN 15
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145 “Vishwas Swaroopam’ (Statue of Belief) is statue

of
{A) Lord Ram
{C) Lord Vishnu

(BY Lord Krishna
(D) Lord Shiva

Tagamm weauw’ ®I gfadr 21
(A) WrEaE ™ (B) wmas gwn
(C) wEm faoy (D) wmE

What is the smallest and largest font size available
in font size toolbar on formatting toolbar?

(A) 6 and 68 (B) 8 and 68

(C) 6and 72 (D) 8 and 72

FHART TAER § SUAe i< WES ZaEr § I0ee
AT $iT AiHwad B g @b § 7

(A) 6 3T 68 (B) 8 2t 68

(C) 6 afr 72 (D) 8 3k 72

Which day is celebrated as ‘National Unity Day’
(Rashtriya®Bkta Diwas) in India?

(AYNlSth January (B) 4™ December

(O), 31@ctober (D) 8™ October

ol e @ v ¥ T uEa fEw & ' T
ST &7

(AYNI5 Sadr
(C) 31 saax &

(B) 4 o=y @
(D) 8 aTaFeErt @l

The name of artisan associated with blue pottery
- Jaipur is :

(A) Rajesh Godha  (B) Anuradha Jangid
(C) Narottam Jangid (D) Abrar Ahmed

T Ul — TEYL ¥ GEYd 3T @ A §
(A) Trayr e (B) s wifts

(C) W =ifE (D) HET HEHE

What was the growth rate of gross state domestic
product of Rajasthan at constant (2011-12) prices
during 2021-22 as per Economic Review 2021-
227

affies wtem 2021-22 & AR 2021-22 # T=Ra™
& T (2011-12) ®mal WX 9%a U= Jq I @l

gl &l 3L @ar N?
(A) =52 (B) 3.2
(C) 6.04 (D) 11.04

Three numbers are in the ratio of 2:3:4 and their
average is 39, then the smallest number is -

A wward 2:3:4 % orurd H ¥ aun el oied 39 7,
T waH B ' € -
(A) 13

(C) 39

(B) 26
(D) 52
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